Assembly Instructions

Parts
NO. Picture Description| Size(cm)
Table
1 \ / Body 60.4x60.4x12
5 @ Metal 59 5x59.5x6
Frame
Metal
3 @ Frare | 59.5X59.5%6
4 Acrylic 3.5x3.5x47
Tube
Hardware
NO. Picture |Description Size(mm)
A =—_J]  AlenKey M5
B | {[mmmmm Bolt M8x15
c (=0 Washer | M6x18
Adjustable | M8x15
D e))»mm Foot (M28x10)
E = AlenKey M4
F | oo Bolt M6x15
>
—

Overall Size:24"x24"x24"H




